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. {afZREFTHEAY isotypes? FHFIH = isotypes WARAAETTESRIRIT I RIE(F
FH « (14%)

2. EEEE A AR EOE - A MRS BRI S RE DR EIE - R
[ 7 BLATE | EI N AR RTRTE (435l - < BF » 20 1) HGEHAE - (16%)

3 B SHINE - O RS R P - RS IR A 25 A AR
P AR R 7 (10%)

4. IR M LA RE B A A DU R RS o FRLAREGRAE 4 B AR SR Ml -
SE LS B R R A R T 1) 2 R R R Bt L Y
(12%)

5. 3BERAA lepromatous leprosy F1 tuberculoid leprosy A FE FRIE IR L T
A~[a] o (BY)

6. AMMRALE RN S ERMUAPTITE 2R Eag R - dnRUE Al G -
AL S - (10%)

7. Multiple choice. { B3 6% each )

(1){ )The discase caused by blocking of receptors by autvantibody?
a.rheumatoid arthrius
b. diabetes mellitus
c.myasthenia gravis
d. thyrotoxicosis (Graves’ disease)

(200 ) People with which of the following HLA type have the tendeney 1o develop
ankylosing spondylius?
a, DR4
b. B27
e Al
d. None of the above
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(3.( )A and B stand for syngeneic (pure) mouse strains.  Skin grafts from AxB F1

mice will successfully be accepted by:
a.A strain

b.B strain

c.neither

d both

(41 )Ina follow-up skin graft experiment, a AxB F1 female mouse mates with an A

sirain male mouse and gives birth to ten F2 mice.  How many of these F2 mice do
you expect 10 be successful skin donors for strain B mice?

a0

b.2-3

c. /-8

d. 10

{(5)(  YWhich of the following methods can be used to separate lymphocytes from

pranulocytes?

a.Density gradients
b.Flow cytometry sorting
c.Magnetic beads

d.All of the above




